m(ptp”) (Sa) [%] (S5) %] (Se) %] (s7) %] (Ss) [%] (So) [%]
[MeV/e?]
D O atrptu
<525 5414 +4 20+ 1441 1414 +1 8+14+1 16417 +1 264 16 +2
525-565 - - - - - -
565-780  —24+4.1+1.1 —30+41408 25+41406 08+41+10 129449410 —0.1+£4.9+0.9
780950  —10.7458+ 1.1 4T+58+0.7 90£58+0.7 —47+58+10 14469407 —47+68+08
9501020 —2.0+3.7+1.6 20£37408 65+37+£14 —3.6+37+£10  26+43+09 1694310
10201100 17434415 69434412 11434408 27434420 07441409 78+40+17
> 1100 - - -
Full range  —3.4+21+1.0 29421406 37+£21+£05 06421409 38+25+£05  51+£25+05
D 0 KHK-ptp-
<525 2415 +2 35+ 1441 6+ 1542 —4+15+1 9+ 18 +1 224 16 +1
525565 - - - -
> 565 15.946.6% 1.5 7568406 78+£68+£05 L768+15 40+80+£05 93+£8.0+0.6
Full range 124461417 129462408  57+6.2+08  17+£63+11 3447410 12.0+7.3+08




